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The figures in the margin indicate full marks
Jor the questions

1. we AR ot Pl See R . 1x8=8

Answer the following as directed :

(@ 03> ¥R EREEE SR SR e

7R RF 2
'What is the literacy rate in Assam as per
the Census Report of 20117
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(2)

(b) T ReR’Y YRGS @FARY TR 1S
GGG ?

(o Te0o1 Al Sferen)

With which of the following commodities

the term ‘Yellow Revolution’is associated?

(Choose the correct answer)

i %
Cotton

(i) o won s
Oil seeds

(i) NI WO T
Dairy product

(iv) SR GBS T
None of the above

(c) TATS Tz FA B PRACFR IR R

T
Mention one land reform measure
undertaken in India.

(d) SRR Fw Rems qb @ans gors Rea
s cryean

Point out oné negative impact of Green
Revolution in India.

(e) Wﬁﬁm{rm?ﬁwwmm
u?

Why is an agricultural price policy
needed in developing countries?
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(3)

(0 >53> TIS T ¥4 SRS T e By
Srae SrEy 391 |

Mention one objective of India’s
Industrial Policy, 1991.

(9) Xo3v T © U 3 TR TR Wi =
S SBsAgN R R e T R 2

What is the name of the Assam Global
Investors’ Summit scheduled during
3rd—-4th February, 2018?

(h) SRR 1 IF “iRFEE Sy AR R 2

What is the time period of 12th Five-Year
Plan of India?

2. &1 R @ wiR6R 5 Gt B (2feh1 150 e
fooe) : 4x4=16

Write short notes on any four of the following
(within 150 words each) : :

(@) SRST TPRM NS
Population Policy of India

(b) SRR W 167 2RI W RREE T

Pubic Sector Undertakings and
Disinvestment Policy of India
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(c)

(d)

fe)

3. (a)

(b)

8P/649

(4)

SRS TS 49T FETOPTR

Achievements of industrial sector in
India

wpe g AE BRI

Prospects of border trade in Assam

SRSt Al (3T
Regional disparities in India

SRON SN A4 CIFRPIR SN 3447 |
2RST TR TS TIF S ITA or
Discuss the main features of Indian
economy. How is the economy of the
country affected by the overuse and
misuse of natural resources?

%<t /Or

S TR IR AW FRPER B R 2 38y
qofRe A8 2ETRAT IRER TR Rowwy
AFEEA PP T TS TR IR
wofiat | 7+4=11
What are the major causes for the
growth of population in Assam? Can the
preparation of NRC be helpful in solving

the problem of immigration in Assam?
Give arguments.

( Continyed )




(S)

4. (o) SR FRYI fiW TemANTOR  FRIEAR
Al F91 (PR IR TR PR W/
(AL FROWA <[P SR | 8+4=12
Discuss the causes for the low
agricultural productivity in India.
Suggest some measures to remove the
barriers of agricultural development in
the country.

941 /Or

(b) SRR IR RoTR TEIPHR AL 91 | €%
FPIPRR AR I e & e o
IRR? 8+4=12
Discuss the problems of agricultural
marketing in India. What measures have
been undertaken by the Government to
remove these problems?

5. (o) SR SRR TmWe Fu WF Fou PR
ST e F4 11
Discuss the role of small-scale and
cottage industries in the economic
development of India.

531 /Or
(b) SRTS G 16X TR @ TR Ry

ST 91 | @R TEUPER AL A -
15T | 6+5=11
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6. (q)

(b)

7. (a)

8P/649

e

{t & %

Discuss the problemg faced by the
Service sector in India. Suggest Some
measures to solye these pProblems.

consequences,
Y941 /Or

Wﬁfﬁi‘ﬂf@w&’ﬁ?%ﬁw%w{ﬁ
PR & R o TR SR g
HfReE 2 2+9=1

Name four Small-scgle and Cottage
industries of Assam, What Major

WW%"@@W .
o el ‘ﬁ%ﬁsu

What are the



(7)

&S /Or

() eEPFT R? SAR GERT  eHS

CIAPFTR SRR Recy SCemw 4 |

2+9=11
What is globalization? Discuss the
impacts of globalization on Indian
economy.

% % Kk
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